Revision Exercise (Inequalities)

1. Draw number lines equivalent to the following:

d)z>5 e)r >4

flz <0

3. Draw number lines equivalent to the following:

a)r < —3orzx >3

b))z <4orxz>38
4.

a)r < —borzx>—1

b) z < —10or x> —1

a) —3<x<—1
b) z < =5orz > —3
c) -3<z<3
d)z<—6orxz>—4

6.

a)r < —2orx>-—1
b)z <0orx>2
c)r<-3orz>—1

3 1
d)r<-—jorz>gz
7.

a) —d<z< -3

b) x < —4 or x > —3
c)r<-—-borx>38
d) -1<z<0

c)r<—-Horx>4

d)z<—-Torz>-1

e)r<—Lorx>3
fyx <b5orax>10
—6<z<3

r<-3orx>4
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e) —7T<x<3
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T < 3or:c>——
:c<——or:c22
2<r< -4
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e)r<iorz>5
f)

g) —-h<x<-3
h) -4<z<2

r<-—-5orx>6

e)x < —8orx>-bh
f) 4<z<-3
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h

r<—-Torx> -5
—2<zx<l1
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jJz<—-borz>-—-1i

: 3 3
i)r<—5orx>;
j)xﬁZormZ%

) 2<x<j;
j)—2<z<i
k) - <z <5
) -3<z<4

i) —t<z<1
j) =16 <z < =5



a) r < —4 e)b<z<? ) —7T<z<—3

b))z <—-lorz>1 flz < —2o0rax>2 j)E<z<10

) -l<az<-—3 g) —5<x<6 k) -8 <z < -3
d)—13—3§$<—3 h)$<4orx21—37 1) x <8orx>25

9.

a) 3<z<—-lorz>1 e) -b<x<-3orx>5 i)—2<z<3orz>10
b))z < —-bor—-1<z<3 f) 8<zx<3orx>5 jJr<dorb6<z<8
c)l<z<borz>T7 g)x§—6or—%§x§3 k)z<—-1lor 8<z<—4
)z <-Tor3<ax<7 h) -d<z<lorz>5 ) 3<z<—jorz>6



